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(Candidates are required to give their answers in their own words as far as possible.)

*YaAT T el HEIT 19 B |
Total number of Questions are 19.
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Question No. 1 to Question No. 7 are Very Short Answer (VSA) Type Questions.Answer any five of these
questions mostly in one sentence. Each question carries 1 Marks.)

*OReT HEAT 8 W 14 TToh TYFANT WA § | SHH I fohagl Iy TRl oh 3o 3TRIehcd# 50 2real A ST | Tedeh

YT T AT 3 37k eI &

Question No. 8 to Question No. 14 are Short Answer Type Questions.Answer any five of these questions
mostly in 50 words. Each question carries 3 Marks.)

9T TEAT 15 T 19 doh S AT WA & | ST I fohol T URaAT o 30X 31Thc# 100 sl H SIS
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Question No. 15 to Question No. 19 are Long Answer Type Questions. Answer any three of these questions
mostly in 100 words. Each question carries 5 Marks.)

This question paper consists of three Groups A, B,and C.
YA T H T @ 31, 73T

All sections are compulsory. T$ft @3 rfaary &1
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Group A
gs-3r
Very Short Answer Type Question (31'1%?%1’ IR W)

1x5=5
What do you mean by Molecular Scissors? ('3-11@3"1'-5]@7 T ﬁmwmﬁ%?)
What is e-waste? (é’-afcrfﬂww%?)
What do you mean by Detritus food chain? (mmm T AT FI1 gHSA %"7)
What is the use of Streptokinase? (@Wﬁawwm%‘?)
Name the source of Penicillin (An antibiotic)? (A& (T wfasifaes) & Frd &1 AT Iav])
Expand the term ELISA. (27€ 'S.Tel.37T38.0H. U &l [AEATRA Y1)
Define Commensalism. (Fg8TITSIdT & aTRTNT $Y1)

Group B
s

Short Answer Type Question (3{'13'3?1'&*‘1' 9RdT)
3x5=15
What are the characteristics a Cloning Vector must possess? (Wmﬁmﬁﬁﬁ'@ﬁ

RIS AT Gl 6?)

Explain in brief about Bt-cotton? (el U & a1 H H&T H IdTT1)

How is Diapause different from Hibernation? (%ﬂam/mmﬁmﬁ/mm
TR et §7)

How are catalytic converters helpful in reducing harmful gases from automobiles? (3

gRades, argail A Aeholet aTel gifaeies T il v i F H TER—ITF 87?)

What is Ecological succession? How is Primary succession different from Secondary Succession?
(ATRTETTeR HTohHOT 3T §? TTATHD ITTshAvT fohd Teh A Efdciden 3TegshavT & T giam
&?)

What is Sewage treatment? Write in short about steps involved in Sewage treatment. (aTTgd #Fel
3UYR FIT &2 alfed JT 3TIR & [3ffea oon & IR & gayg 7 fod))

Explain with an example about Biocontrol agents. (éaﬁwwa:a&ﬁmasw
qoTeT 1)

Group C
@s-9
Long Answer Type Questions (aTEi' ELRC RG]

5x3=15
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16.

17.

18.

19.

Explain in detail about working of PCR. (4T €1.31TR. & feranfafer &1 faedr & aofa #1)
How Insulin can be produced by Recombinant DNA Technology?

(81011, Gerfaret SHenfarehl & arT Sg ot 1 AT S foham ST 82)

Explain in brief with suitable diagram about Phosphorus Cycle in an Ecosystem.

(Teh 9 o ATETA H BIREDIE Tsh & TR H Jd101)

Explain about different ways by which organisms can cope with environmental changes.

(3T IPT o IR H HaTT H g0Ted i [o¥eTeh gaRT Sfiq TATaRofIT Sgeltal sl HTHAT 1 9Td &7)
What is Ozone depletion? How does it occurs and what are it’s harmful effects? (3T1SileT 37a8TT

FITE? Tg HA gl & AT 3HF glieTenieh THTT FAT5?)
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